
LTCC Examination 2025

Symmetry Methods for Differential Equations
1. (a) Show that the hyperbolic rotation group

x∗ = x cosh ε+ ct sinh ε, t∗ =
x sinh ε

c
+ t cosh ε, (1)

with c a non-zero constant, forms a one-parameter group of transformations in ε. Derive
the infinitesimal forms of the hyperbolic rotation group. Hence by integration rederive the
global form of the group.

(b) By making the transformation ε = arctanh(−v/c), with v a parameter, show that the hyper-
bolic rotation group (1) becomes the Lorentz transformation

x∗ =
x− vt√
1− v2/c2

, t∗ =
t− vx/c2√
1− v2/c2

.

2. Determine the value of α for which the equation

dy

dx
= y3e2x − y +

4e−2x

y
, (2)

is invariant under the one-parameter group

x∗ = x+ ε, y∗ = y exp(αε).

Find the associated invariant and hence find the solution of equation (2).

3. The infinitesimals for the dispersive water-wave equation

utt + 2utuxx + 4uxuxt + 6u2
xuxx + uxxxx = 0, (3)

are
ξ = αx+ 2βt+ γ, τ = 2αt+ δ, ϕ = βx+ κ,

where α, β, γ, δ and κ are arbitrary constants. Determine all the symmetry reductions and find
the resulting ordinary differential equations. You do not have to solve these ordinary differential
equations.

4. Show that the nonlinear equation

utt + uxx + uuxx + u2
x + uxxtt = 0, (4)

possesses the symmetry reduction

u(x, t) = t−2w(z)− 1, z = x− λ ln t,

with λ a constant, and find the ordinary differential equation which w(z) satisfies. Determine
whether this is a classical or nonclassical reduction.


